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(D) (C) (B) (A) QUESTIONS Q-1
1895 1890 1776 4770 Adarm Smith wrote his book in:- :u'{,cf L
——— b1~ | Natural A Moral 311 |scientiic -t | Economic Laws are: gl | 2
Vertical $»»f |Horizontal Cf;f Negative 6’ ‘Positive =¥ | The slopé of indifference curve isi-¢- tr SE7 ¢ é}rm.s 3
&t e & b -1 q.bf With continuous ¢ £ 556! ﬁc Jeipgl s | 4
Bécomes Zero| Increases Positive Decreases | use of commodity marginal utility becomes:
Chair J)/ Variables =12~ | Parameters ;%14 | Constants.= % | The values which change are called:f S et wzgsim | B
/u?‘)‘ Vs (:. der e (6 i &m,g JJJ,L}!@;/} 6
Perfectly elastic | Zero Less than unity | More than unity | The elasticity of demand for necessities is:
Infinite 554U Zero Positive =3 | Negative d’ Siope of demand curve is: (e I
» § Puc ¥ |Thefunctional g bzt edaun| 8
Zero Negative Decreasing Increasing |relation between supply and price is:
s uf.: ) u{l Ut rl}l J)//c_i"ué e fl 9
Four Three Two dne According to time period , the kind of supply are:
el calir | A | e e cadmuped day)| 100
Stock Quantity supplied Py Quantity Equilibrium price is determined by:
Quantity demanded demanded
and Quantity supplied
s K SS S SH A ) I A £ [P B I
One Owner | Public Business | Individual Business | Partnership | Jointbusinessof fwo or more persons is called:
& Ay o ot e KSR L e | 12
Organization Capital Labour Land Geoghraphical mobility is not possible for:
Poaiv | FodBuiv | Posasigis | S e b S g Y| 13
Law of. Law of Law of constant Law of Marginal product increases in: '
variable réturn decreasing return return increasing return
2B Fa P e Jllo/?éc));ﬁ‘ J,wﬁujﬁ" —g bl K..}/w/?fu)l? 14
Law of vanable Law of Law of increasing Law of Another name of Law of increasing cost is:
proportion decreasing return return decreasing cost
ik i e bl e f P et G S K SN e | 18
“Substitute cost | Average cost Total cost | Marginal cost | The sum of fixed and variable cost is called:
B N ® < ugi_mr/;/'uf..lt?»d"( 16
':'Jrlﬂagg?s A Few Twe One In perfect competition buygrs are
oL Sope Sl d Cods” e brdf Fnlie drs bl wll bl | 17
Loss Zero profit Abnormal profit | Normal profit | when average cost is greater than average revenue, the firn faces:
U9 bl d)‘!gf JJW?:‘? dy"’-(:; _%V/J;'/UJJML/MJW 18
Average Revenue | Total Revenue| Marginal cost | Marginal Revenue Demand curve of a monopolist represents:
o is Gt & e b G St ARE
Positive Negative Vertical Horizontal | The graph of supply of money during short period is:
A o A o il e b ¥ Ak | 20
Organization Labour Capital Land Eor which reward factor of production is not pre-determinect:
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Answer briefly any Eight parts from the followings:- 8x2=16 _L;/‘//"..-,yzﬁ"'érzt #7 a,éfc—.u.* Ji n -2

Define the Adam Smith's definition of Economics.

What are the four characteristics of human wants.

What is meant by economics as normative science. Explain with example.
What is meant by Macro Economics?

What is meant by "Wealth" ?

What is meant by word "Marginal” in economics.

Write four assumption of law of diminishing marginal utility.
Write four types of variables

Define Law of demand.

What is meant by extension of demand?

Explain the compound demand?

Describe slope of demand curve?

Answer briefly any Eight parts from the followings:- 8x2=16

Explain the difference between stock and supply.
Write the four causes of change in supply.
Expiain the Elasticity of Supply equal to unity.
Define Elasticity of supply.
What is meant by change in Equilibrium.
if Qd=10-2p and Qs=4+p then Find Equilibrium price and Equilibrium quantity

What is meant by Efficiency of land. a1 W obs § g (Vi) Define land by AlFred Marshal

Define term “"Labour" used in Economics by Prof. Jevons.
Write the name of factors of production
Define Law of variable proportions?c‘- iy L[c. At /3—’ GPE (i)

: owi

What is meant by average revenue. Write its formula

Answer briefly any Nine parts froi

Define fixed cost of production. Write

What is meant by explicit cost . Write'example.

Write assumptions of perfect.competition.
Write conditions of firm's equilibrium.
Make a diagram to show the shut down point of a firm.

Draw average revenue and marginal revenue curve under monopoly.

Wirite two differences between monopoly and perfect competition.

What is meant by intensive cultivation?
What is meant by differential rent
What is meant by money wage. Give an example.
Write four advantages of minimum wége
Write Keynesian motives of demand for money.
Part 11
Note: Attempt any three questions.

5. What is meant by indifference curve? Explain its properties.

6. What is meant by variables? Explain their types by examples.

7. Explain law of variable proportions with the help of table and graph.

8. Explain the equilibrium of a firm under perfect competition in long run.
9

Explain the difference between Profit and Interest.
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